W1182-X SOCKET READINGS

"MOLONDE
CONDENSER

C{RCUITS AND SUBJECT To

VOLT MFTER LOADING.

* ARE SERIES RESISTANCE
TOTAL CURRFNT 130 Ma.

SPEAKER PLUS
OCKLT

ﬂﬁ\l.
\

NETER READINGS TAX
ADINCS. TAXEN WITH

G T A
T R

. o i
E

» _.mﬂ.‘.m. i et

o

R.F.
Clar?

ﬂaﬁi.m..

LY 20

b
“c °C* BAND
L17 118 AT 9500 XC.|

800 KC.

ANTEWRA
S

Rk T2,
Bentin s s,

20 W, RESISTOR_FOR
PERATION S, 6, 7, 8

)

_.am [~ ﬁ..ﬁ.ﬂm [~

O®
=) @) @) @) 69

.q.-;
AT 3

TRIMIER

AT

85, TR

i)

av it

. » ¢8|
e - e o
5

™o

e

14)
oC. R.F, TR R

[
BC. 0. TRIMAR 0
AT 1500 KC.

RN

= v 308, onc.
.

(AN

(s)

cott (7L e Sl 22,

1.F. FRIQUENCY 480 KC.

o R B G O er

MODEL

O (o]

W981-A-X

Sy oo

ST
e, coopecn o
Y TR

MODEL
wi/182x

-—

REALIGNING DETAILS

Perform alignment in proper oraer as shown by the accompany-
ing chart, starting with No. 1, and following all operations
across, then No. 2, etc. The chassis bottom shield must be
securely in place when king R.F. adj Adj
locations and frequencies are shown on a sticker fastened to the
bottom side of the chassis shield. These trimmer locations are
also shown in the accompanying illustrations.

Coanect the “low’ output terminal of the test oscillator ta the
receiver chassis for all alignment operations. Regulate the output
of the test oscillator s0 that minimum signal is applied to the
receiver to obtain an observable output indication. This will
avoid a-v-c action.

The term “Dummy antenna’ means the device which must be
connected between the “high’ test-oscillator output terminal and
the point of connection to the receiver in order to obtain ideal
alignment. “No signal, 1,700 kc.” means that the receiver should
be tuned to approximately 1,700 kc. where no signal or intesfer-
ence is received from a station or the receiver (heterodyne)
oscillator.

The term “Rock Through' indicates that the receiver station
selector should be rocked back and forth while making the
indicated adjustment. The adjustment and rocking should be
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